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Solving	Inequalities	by	Combining	Like	Terms				Answers	
		
Solve	for	the	variable	and	graph	the	solution	on	the	number	line.	
	
1.							5ℎ − 3ℎ ≥ 12		 2.							7𝑘 − 12𝑘 < 20		
	
														6		 ≤ 	ℎ					 	 											−4	 < 𝑘			
	
	
	
	
																																											6	 																																-4										
	
	
	
3.					−9𝑦 + 6𝑦 > −18	 4.						10𝑔 − 16 < 2𝑔	
	
														𝑦		 < 	6					 	 											𝑔	 < 	2			
	
	
	
	
	
																																	6	 																																								2				
	
	
	
	
5.					6𝑎 + 27 < 15𝑎	 6.					15 − 3𝑘 < −8𝑘	
	
														3		 < 	𝑎					 	 											𝑘	 < 	−3			
	
	
	
	
	
																																					3	 																																				–3					
	
	
	
	
	
	



	

	

7.					3𝑥 + 12 < 𝑥	 8.						−10𝑎 > 12 − 6𝑎	
	
														𝑥		 < 	−6					 	 											𝑎	 < −3			
	
	
	
																																				–6	 																																				–3	
	
	
9.					8

9
𝑤 + 5 < ;

9
𝑤	 10.			3𝑝 − 7𝑝 < 𝑝 + 25	

	
														𝑤		 < 	−15					 	 											−5	 < 𝑝			
	
	
	
	
	
																					–15	 																																			–5	
	
	
11.						;

8
ℎ + 4 < =

>
ℎ	 12.					−5𝑞 − 6𝑞 < 3𝑞 + 42	

	
														12		 < 	ℎ					 	 											−3	 < 𝑞			
	
	
	
	
																																											12	 																																				–3	
	
	
	
	
13.					8𝑦 > 12𝑦 − 24	 14.					8𝑚 − 9𝑚 > 13 −𝑚	
	
														𝑦		 < 	6					 	 											𝑛𝑜	𝑟𝑒𝑎𝑙	𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛𝑠			
	
	
	
	
																																										6	 																																					
	
	
	



	

	

15.				2 𝑥 − 3 ≥ 4𝑥	 	 16.			−5 𝑓 − 4 ≥ −7𝑓	
	
														𝑥		 ≤ 	−3					 	 											−10	 ≤ 𝑓			
	
	
	
	
	
																												–3	 																								–10	
	
	
	
17.			KL;M

9
< 2ℎ	 18.							;8LNO

L8
< 6𝑔	

	
	
														−2		 < 	ℎ					 	 											−3	 < 𝑔			
	
	
	
	
																																–2	 																																	–3	
	
	
	
	
	
	
19.			9 4 − 2𝑘 ≥ −6𝑘	 20.			8OLPM

LQ
< 7𝑔	

	
	
														𝑘		 ≤ 	3					 	 											3	 < 𝑔			
	
	
	
	
																																					3	 																																											3	
	
	
	
	
	
	
	


